il

g
=
s
i

1. ¥¥4
B4 ST TEE ST REERG M SR
JEATST IR VR VY FI AR AR TREET = 4

2. FHHE
1) BB SR [EH BRI
171 HH B 4fn 78 7H 28

2) JE1THIR
£ o THF12H19H

3) &FEtHM
S PR
T,

m TREEMERIC BV T, BRRASIC LB A 21T O 365

4) FEHBNA
HIE TRFRCAAREE - BERIER) DL kY

E+sZi@E SN



PR NER =

Tl
P

EBA | DR THEE ST HEEEEE S TR S ¥ HYE A
H H — A
THH - THE - FER BT #H = 4 H AR ER
— AR = 1 14, 010, 368
B AT 2V 1 12, 113, 400
R — 1 > 7 2y 1 9,015,430 | HER—V v 7 (A —naT7R—=1

) 14 m
KEPEL « L b, BOmEL T, $AEL T, &
66mm

TER—Y 7 (F—aTR—1

) 5 m
ML o 2L B, B0mEE~80mLL R, $ATE.
T, ¢ 66mn

+ER—V 7 (A —var7R—V

) 12 m
ikt 2L B, 50mEA T, B0 T, ¢
66mm

+ER—V 7 (A —va7R—V

) 20 m
Mt o 2L R, 50mEE~80mLL T, &l
T3, ¢ 66mn

+ER—=V 7 (A —na7R—V

) 1 m
BHE T Y LHD, 50mLL T, $A1E T, ¢ 66
mm

AR — ) 7 (A= a T R—

) 35 m
#5, 50mEA T, $AEC T 47, ¢ 66mm

HBR—Y 7 (a7 R—

) 55 m
O, 50mEE~80mLL T, $A1EL T 5, ¢ 66m
m

AR —Y 7 a7 R—

o ELASEE TN



m
2
%

==
=]

EBA | DR THEE ST HEEEEE S TR S ¥ B A
HH — A
THHE - THE - R BT & 4 AR ER
) 78 m
g, 50mEL T, & N5, ¢ 66mm
HRER—-V T (= a7 R—U
) 40 m
#A, 50mEA~80mEL T, £ T, ¢ 66m
m
YU T 4 o7 RONENCERR M 2,299,820 | RAEL AGAER
19 B
et - L b
FEHEE AGRBR
1 [=]
BHR T 0 1)
FEHE AR
90 ]
[ies)
LR AR R
7 [=]
RAS 7]
ENRER X 306, 390 | #EHMERL
7 i
JE AR AR
7 i
A5 I AR
7 1
T AT = 313,760 | fRATERA
1 =
AR R = 166, 000 | FET-ECAAMIERLE
1 =
[Epeag v 12,000 | HEEs%
6 N
MR A = 1, 896, 968
-2 - E55ms SN HTEE R



WA | DRTEE B TR R T E B FRA
H H — R
THH - T - fER] A7 # 4 % OB ORR
TEHRE = 58,350 | iEffE
1 =
el #: 453, 340 | HEfig K OWRA {1
1 =
FHAFLEAZE
1 =X
K E (R 7ER)
1 =X
Fte=y =Y 1,041,600 | Bk
1 =X
RS e X 258,969 | frEAcimty (EiE L - 15108)
1 =
it TS FR = 84,709 | Mi T PRy
1 A
EESHE R+ WEREE = 14, 010, 368
il X 9,079, 632
HatS = 9,079, 632
— A = 23, 090, 000
AT A = 1,477, 592
[EREE 57T = 1,477, 592
TSR A = 1,477,592 | EHHEiYEf
1 e
AT A
1 =
o = 299, 600
-3 - E A28 SUNHT R



i

il
I

\
Y/

ull
P

WA | DRTEE B TR R T E
H H L3l
THH - T - fER] # # OB ORR
i = 299, 600
revss =X 299, 600
1 =X

EEEM (FOMs MR <) =X 777, 192
Z DA =Y 957, 017
— B PR =X , 465, 791
fRNT SR A = , 200, 000
TRASSE = , 290, 000

E+sZi@E SN



